ENGL 393/
Buffy on Being Buff: Lean Predicates
Shea


“I like my garlic on a rope, my chili at 3 alarms and my predicates lean.”

-Buffy to Giles in the library circa 1999

Three strategies for LEAN PREDICATES: 
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1. choose active voice ,  
2. write in present tense, and



3. eschew
 long verbs strings.
 

Active:

Buffy slew the vampire.

Passive:
The vampire was slain by Buffy.

Present:
Buffy wears garlic ropes as a necklace.

Past:

Buffy wore garlic ropes as a necklace.

Too Verby:
Buffy began to undertake the process of dispatching him.

Better String:
Buffy dispatched him.

But you are a serious bunch, writing important papers.  So how does this work in a technical setting?

Active:

Google’s stock price soared in the third quarter.

Passive:
The third quarter saw a soaring of Google’s stock. 

Present:

Jane Austen Powers wears expensive casual clothes on Fridays.

Past:

Jane Austen Powers wore expensive casual clothes on Fridays.

Too Verby:
MicroSoft will have to begin to address Google’s strategy.

Better String:
MicroSoft needs to address Google’s strategy soon.

Other options, depending on audience, context and purpose, include



MicroSoft must address Google’s strategy.



MicroSoft better address Google’s strategy.



Google’s  new strategy forces MicroSoft’s marketing hand.



Google’s new strategy may clobber MicroSoft’s marketing efforts.

Lean Rules!





Aa-nold?  








� Avoid. or Just Say No.


� Present Tense helps: 


If an action is ongoing, you can recast into present tense and still make sense. 


Use the present tense when discussing texts. For example: In Paperboy, Henry Petroski writes….


Quotes from books lend themselves to present tense, since the idea “lives” in the printing.


Speak about professions in the present tense:  Engineers tend to be technically-proficient.





